LOG OPERATIONS

log,
$$10^{7} = 7$$
 log $e^{217} = 217$ $6^{\log_{1} 39} = 39$

Solve $\log_{5} x = 4$

Expunentiate, $5^{\log_{5} x} = 5^{4}$
 $\log_{5} x = 9$ $\log_{5} x = 5^{4}$
 $\log_{5} x = 9$ $\log_{5} x = 5^{4}$
 $\log_{5} x = 9$ $\log_{5} x = 5^{4}$
 $\log_{6} x = 9$ $\log_{5} x = 1$
 $\log_{6} x = 9$ $\log_{5} x = 1$
 $\log_{6} x = 9$ $\log_{5} x = 1$
 $\log_{6} x = 9$ $\log_{6} x = 1$
 $\log_{6} x = 9$
 \log_{6}

PROPERTIES OF LOGARITHMS

$$log_b m + log_b n = log_b (m \cdot n)$$

$$log_b m - log_b n = log_b (\frac{m}{n})$$

$$log_b m^p = p \cdot log_b m$$

$$\log_{2} 4 + \log_{2} 8 = \log_{2} 32$$

$$\log_{2} 2^{2} + \log_{2} 2^{3} = \log_{2} 2^{5}$$

$$2 + 3 = 5$$

$$x^{2} \cdot x^{5} = x^{7}$$

$$\log_{7} 7^{5} = 5 \cdot \log_{7} 7$$

$$5 = 5 \cdot 1$$

$$\begin{aligned} \log_{7}(x+5) + \log_{7}(x-3) &= 2\log_{7} 3^{2} \\ \log_{7}[x+5)(x-3)] &= \log_{7} 3^{2} \\ \log_{7}[x+5)(x-3)] &= \log_{7} 3^{2} \\ \log_{7}(x^{2}+2x-15) &= \log_{7} 9 \\ \log_{7}(x+2x-15) &= \log_{7} 9 \\ \log_{7}(x+2x-1$$

$$|\log 8| \frac{7}{2} | 17 \qquad |\log 4| p \log \frac{1}{7}$$

$$\frac{x \cdot \log 8}{\log 8} = \frac{\log 117}{\log 8}$$

$$x \approx 2.29$$

$$\frac{3x + 5}{\log 8} = \frac{\ln 2}{3}$$

$$\frac{3x + 5}{3} = \frac{\ln 2}{3}$$

$$\frac{3x + 5}{3} = \frac{\ln 2}{3}$$

$$\frac{3x + 5}{3} = \frac{\ln 2}{3}$$